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- 2
ttm.d~ bC(X - X)

i Iwtwo~~~n;vwalblaaa~dunlr

2-e; = C(Yi-  ?)*-2bUXi-ji)  (yi-')+bZ(Xi-  2, (Y.-  ?)
1

= c (Yi-Y: - bZ(Xi-ji)  (Yi-i? . . . ...(l)

"
MFOnltPJvW1u~~t~v~trvuslnmean 9 Z-G

ze; =. cy2- bxxy

Y
n1x LLRIY ^l~a;glnalN~~;flu,  D = 0 tt& = c (YiG) 2

adh ,T(YiG)  * = naluttwsawfi~~u~  d-9psw7v
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l=
bC(xi-ji)  (Yi-?)  + 2,:

. ." . . . . . (2)

z (Yi4) 2 c(Yi-Y12  .

Explained Unexplained

Vaxiation Variation

ti?Vfl;l  &l~S~~PI~ftlS&thd~~ (Coefficient of Determination) TJ&qfl& R2

* tf-lfiw (i) R2 = bC(Xi-x)(yi-Y)
= bCxy

z (YiG) 2 ZY2

r~wu& R2 lwdunl~  ('2)

** 2
(ii) R =

i - =
c (YiG, 2

Ly2

tnvti  Ee:  = Ey2 - b&y

* (iii) R2 = (Cxy) 2

2x2.zy2

* (iv) R2 = b2Zx2

CY2

* (v) R2 = ^C(Y - iq2

c (Yi-  Y,  2
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c (Yi-Y)  2 kla ~71%4Lb~~~~?uk-ww~ (Total Variation) rChdnlcnr~47u

wQafwlullJsLk?wuo4  Y &wl+l41&auapja t~un%~ak~~d~~?  Total Sum of Square (TSS)



= (-2)(-20) = 40 = 0.87
46 46

2e.
cl-

1 ze:

c cyi-  Y,  2
= 1-p

= 1 - 6 =L& =  0 . 8 7
4F 46
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2. iYB]PJss~nSnls~~~WZsel~u~s~  (Ad’lusted Coefficient of Determination : g2)

* (n-1) 3= 1-F
( n - 2 )  c,2

1
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&5-l) 6--
(5-2) 46

= 0.83

3.d( Standard Error of Estimate: SEE I S , S y,x  )

f, = a + bX-



SEE(&S) =%kF

SEE =
cl’,’ - iacY,  - b;r=X,Y,

n - 2

udze2  = zy’ -b2xx2

= 4&(-2)*(10)= 6

SEE = - = 1.4142
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4. n 1 fla1PI  ie (Standard Error of Estimate of a and b : S,,SJ

S=

E-X1
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1.4142=-
Ji6

=0.4472
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P=b*  ta/z,,*%
= -2 f 3.182(0.44720

= -2 il.4230

=[ -0.57 , -3.43 ]

~.~~=13~3.182(1.4142)  ;+;=13*4.95
\i-

= 13*1.382(14142)  ;+;+I
T--
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Ho : p = ( &i-~lihCh=iT~  )

Ha : p # ( fipiltflti9LfiY  )

b-Ppm t, = 7



6 . kit+%! F uKniSvIli)AOU  ( F-test )

F = Variance ndf~%u?~~bin’?u  regression
d

Variance no’iulub.%huregression
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??hmu
Ho:P  = 0 ( x a'sulun~lutiuulJsZu  Y vlrt;)

Ha : p #  0 (X Q&Jlunw.lcduLlY=h  Y vi)

c

tw%x-$ F> Fdf l,n-2

Source of d.f. Sum of Square Mean Square F

Variation S . S . M . S .

Explained
1

Vnrbtinn

Unexplained n-2

Variation

Total Variation n-l

s v df. ss M S F

EV 1 b~zyu%b2~x2

u v n - 2 zy’-bzXy  do  ce’  . ze’/n-2  S:/St

TV n-l CY”
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n - 2

= b2Cx2
S2

b2=-
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F = b2Zx2
' s2

ze: = (I- R2)zy2

F
= (n-2)i2Cx2

(l-RZ)~y2

(n- 2)i” -Cx’

F ZZ CY'

(1 -R ’ )

= (n - 2)R2

I-R2
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n.  %wIrn~fxJ  Ho : (3 = 0 t-h Ha : p #  0 b;?UniMmIPDUUUU  F s%~tii-~fi~  65

35Y.b

n. wnmL9ou  Ho : p = o 6~ Ha : p #  o &iw?l?nm(PuUUuU  t ~diuihd%?qp5

H o :  fi=O ( Tlnl&l  o’?ulurliulnwlls~~u*~~~~~~~  )

Ha:p#O

b
t

=-
sb

- 2=-
0.4472

= -4.472

?I. WnmlROU  Ho : p = -1.5 fiu  Ha : p #  -1.5 6WlnImmQUUUU  t r=hb%~&fi~,~  .05

Ho: @=-I.5

Ha : pf-1.5

t b-B=-

sb

= -2-(-1.5)
0.4472

= -1.1181



d.f M S F-Ratio

E V 1 b2C” = (-2y( IO) 40 = s; s: 40
1 7=2

I

f=a+bX
V,) <q

*a *i
R2=  . . . . . . . . x2=  .,,.....,...  S= ..,.........

rihd  niswUx4unis demand ‘9v@htxhi+  2.1

Q,= 15 - 2P

(1.8974) (0.4472)

t = 7.9056  5.554

F =.  ,,

R2=  0.87 x2  = 0.83 S = 1.4142 F = 20
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